'12 TEC

2012/ 4/ 15
1
NO

az 1] 1 0:41.082| 1:39.175| O 0:40. 793 1:38.757| O 1:38.757
az 2 0 0
al 1 7 0 0: 41. 661 1:42.797| O 1:42.797
al 2l 9 0:45.863| 1:51.805| O 0: 45. 615 1:51.726| O 1:51. 726
al 3 3 0:47.084| 2:03.632| O 0: 46. 534 1:53.926| 0 1:53.926
al 4 5 0:45.103| 1:56.726| O 0: 45. 470 1:58.190| O 1: 56. 726
al 5 4 0:49.477| 2:03.694| O 0:47.223 1:58.630| O 1: 58. 630
al 6 TUAC 0 0
al 8 0 0
RL 1| 15 0:46.389| 1:52.913| O 0: 45. 527 1:52.387| 0 1:52.387
RL 2| 16 aweC 0:46.799| 1:54.298| 0 0: 46. 500 1:53.195| 0 1:53.195
RL 3| 17 GA 0:45.827| 1:53.725| O 0: 45. 948 1:53.503| 0 1:53.503
RL 4] 10 TEC 0:46.205| 1:54.746| O 0: 45. 868 2:02.181| O 1: 54. 746
RL 5 11 AL 0:48.733| 2:01.352| O 0: 48.303 1:56.779| 0 1:56. 779
RL 6| 13 SPEGD 0:47.100| 1:57.048| O 0: 46. 781 2:01.440| O 1:57.048
RL 71 14 S\C 0:49.235| 2:12.917| O 0: 48. 027 1:57.639| 0 1:57. 639
RL 8| 12 0:46.888| 1:58.548| 0 0:47. 328 1:58.886| 0 1:58.548
R 1f 30 P2 0:41.954| 1:42.898| O 0:42. 448 1:42.755| 0 1: 42. 755
R 2| 33 QKA T55 0 0:42. 001 1:43.432| 0 1:43. 432
R 3| 19 TEC 0:41.905| 1:43.555| 0 0: 42. 600 1:43.637| 1 1: 43. 555
R2 4] 31 AL 0:42.541| 1:44.642| O 0:42.339 1:44.324| 0 1:44.324
R2 5 27 SPEGD 0:42.613| 1:44.337| O 0:43.093 1:46.295| 0 1:44.337
R 6| 32 s\ 0:42.760| 1:44.723| O 0 1:44.723
R2 71 25 S\C 0:43.441| 1:44.884| O 0: 42. 976 1:44.336| 1 1:44. 884
R 8| 29 s\ 0:41.959| 1:44.89%| O 0:42.519 1:45.747| 0 1: 44. 896
R 9| 26 SPEGD 0:43.727| 1:45.459| O 0:42. 795 1:45.434| 1 1: 45. 459
R2 10f 22 S\C 0:43.687| 1:48.119| O 0:43.872 1:46.687| 0 1: 46. 687
R2 11 28 S\C 0:51.229| 1:53.270| 1 0:43.010 1:47.133| 0 1:47.133
R2 12 20 SPEGD 0:43.754| 1:48.111| 1 0:43.038 1:47.981| O 1:47. 981
R 13| 23 S\C 0:42.509| 1:43.877| 1 0:42.412 1:44.836| 1 1:48. 877
R2 14 18 oNL 0:53.883| 2:12.757| O 0: 48. 682 2:03.128| 0 2:03.128
R2 15( 24 ETA LE 0 0: 48. 822 1:53.493| 2 2:03.493
R2 21 S\C 0 0
NSL 1| 38 TEC 0:40.295| 1:38.272| O 0: 40. 736 1:38.154| 0 1:38. 154
NSL 2| 39 TEC 0:40.716| 1:38.765| O 0: 40. 528 1:38.268| 0 1: 38. 268
NSL 3| 40 TEC 0:40.765| 1:38.688| O 0: 40. 354 1:37.490| 2 1:38. 688
NSL 4| 36 QKA T55 0:41.085| 1:39.922| O 0: 41. 076 1:39.373| 0 1:39.373
NSL 5 37 AL 0:41.938| 1:41.257| O 0 1:41. 257
NSL 6| 35 s\ 0:42.576| 1:49.566| O 0: 42. 599 1:43.557| 0 1: 43. 557
NSL 7| 34 TEC 0:49.984| 1:53.021| O 0: 43. 470 1:46.695| 0 1: 46. 695
N2 1| 49 SPEGD 0:39.176| 1:36.607| O 0: 39. 805 1:38.156| 0 1: 36. 607
N2 2| 47 ETA LE 0:40.644| 1:37.370| O 0: 40. 494 1:37.338| O 1:37.338
N2 3| 50 TEC 0:40.268| 1:39.884| 0 0: 40. 366 1:38.372| O 1:38.372
N2 4| 45 GA 0:40.890| 1:39.056| O 0:40. 779 1:39.047| O 1:39. 047
N2 5| 48 TEC 0 0:40. 391 1:39.112| O 1:39.112
N2 6| 46 SPEG D 0:40.697| 1:39.622| O 0: 41. 008 1:39.207| O 1:39. 207
N2 71 42 QoM TS5 0 0: 42. 649 1:41.301| O 1:41. 301
N2 8| 43 ETA LE 0:42.020| 1:42.594| 1 0:41.718 1:41.792| 0 1:41.792
N2 9| 44 ETA LE 0:41.188| 1:40.599| 1 0 1:45. 599
N2 10 41 QRT 0:41.952| 1:43.304| 1 0:42.181 1:40.660| 1 1: 45. 660
NS3 1| 56 RB 0:39.736| 1:37.204| O 0 1:37.204
NS3 2| 55 TEC 0:40.002| 1:37.882| O 0: 40. 038 1:38.687| 0 1:37.882
NS3 3| 54 TEC 0:40.320| 1:40.460( O 0:41. 016 1:39.290| O 1:39. 290
NS3 4] 53 GA 0:42.865| 1:42.344| 1 0:41. 320 1:40.976| O 1: 40. 976
NS3 5| 52 GA 0:44.104| 1:45.729| O 0:43.393 1:44.116| O 1:44.116
NS3 6| 51 JACS- K 0:42.446| 1:56.479| O 0:43.073 1:45.880| 0 1: 45. 880




